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[1]. Draw the shear-force and bending-moment diagrams for the beam shown in Fig. | . 25 %

[2]. The beam shown in Fig. 1 is built with section shown in Fig. 2. Determine :
(a) The maximum shear stress in the web.
(b) The minimum shear stress in the web
(¢) The maximum normal stress in the section

(d) The minimum normal stress in the section. 25 %

{3]. Analyze the truss shown in Fig. 3 with the section method. Determine the axial force in member
BG and CG . 25 %

[4]. The shaft showni in Fig. 4. Given :
T1=3k-fi, T2=2k-fi, dl=3inch, d2=2inch,
Li=2ft, L2=15ft  G=12000ksi.
Calculate the torsional angle (in degree ) at point C, 25%




